



Study Guide 2

MATH 172 Lab: Sections 7 and 8

Lab Instructor (TA): Mohammed Kaabar

Student's Name: Mohammed K. H. Kaabar
Student's ID: Solution -

Note: This study guide contains my practice questions that I think will be useful for preparing you for the second exam in Calculus II.

Question 1: Evaluate the integral: $\int \cos(\sqrt[3]{x}) dx$.

 $\int \cos(w) [3w^2 dw]$ $\Rightarrow 3 \int w^2 \cos(w) dw$ Let W= Vx I let's use table method as follows: Take the derivative of both sides => 3w2dw = dx derivative Part Integration **Question 2:** Evaluate the integral: $\int \sqrt{\sin(x)} \cos^5(x) dx$. => (VSin(x) cos x dx = (VSin(x) cos x cos x dx = -Sin(w) & = (Jsincx) (1-Sin2x)2(coxdx) - Ces (W) E $= \left(\frac{u^{2}}{1 - u^{2}} \right)^{2} du = \left(\frac{u^{2}}{1 - 2u^{2} + u^{4}} \right) du = \frac{u^{2}}{1 - 2u^{2} + u^{4}} du = \frac{u^{2}}{1 - 2u^{2}} du = \frac$ Sin(w) $= \int [u'/2 - 2u' + u'] du = \frac{u^{3/2}}{3/2} - 2\frac{u'/2}{7/2} + \frac{u}{11/2} + C$ $= \frac{(\sin x)^{3/2}}{3/2} - 2\frac{(\sin x)^{7/2}}{7/2} + \frac{(\sin x)^{1/2}}{11/2} + C$ $= \frac{3/2}{3/2} \sqrt{\frac{\text{Question 3: Evaluate the integral: } \int \sqrt[3]{\tan(x)} \sec^6(x) dx.}$ $= 33 \int w^2 (\omega s(w)) dw = -3w^2 Sin(w)$ 2w Cos(w) + 6 Sin(w) + C => (3/tantx) Sec (x) dx = (3/tantx) Sec 4x Sec 2x dx Thus, $\int \cos(3x) dx = -3(3x)^2 \sin(3x) +$ = $\int \frac{1}{\sqrt{12}} \frac{1}{(u^2+1)^2} du$ $\int \frac{1}{\sqrt{12}} \frac$ 2(3/x) Cos(3/x)+6Sin(3/x)+C

Question 4: Evaluate the integral using trigonometric substitution: $\int \frac{1}{x^2\sqrt{|x|^2}} dx$.

Ces26 = 1 + Ces (20)

Sh20= 1- Cos (20)

=[16 Sec (2)+16 1/24. 2)+C

 $=\frac{1}{16} \sec^{1}(\frac{x}{2}) + \frac{1}{8} \sqrt{x^{2}-4} + C$

$$\chi = 2 \sec \theta \implies \sec \theta = \frac{\chi}{2}$$

$$x = 2 \sec \theta \implies \left[\sec \theta = \frac{\lambda}{2} \right]$$

$$dx = 2 \sec \theta + \tan \theta d\theta$$

$$\sqrt{\chi^{2}-4} = \sqrt{(2sec\theta)^{2}-4} = \sqrt{4sec^{2}\theta-4} = \sqrt{4(sec^{2}\theta-1)} = 2\sqrt{sec^{2}\theta-1} = 2\sqrt{tm^{2}\theta} =$$

$$= 2\sqrt{\tan^2\theta} = 2\tan\theta$$

$$\int \frac{1}{(2Sec\theta)^{\frac{3}{2}}(2tm\theta)} d\theta = \frac{1}{3} \left[\frac{1}{2}\theta + \frac{(3n(2\theta))}{4} + \frac{(3n(2\theta))}{2} + \frac{(3n(2\theta))}{2} \right] d\theta = \frac{1}{3} \left[\frac{1}{2}\theta + \frac{(3n(2\theta))}{4} + \frac{(3n(2\theta))}{2} \right] d\theta = \frac{1}{3} \left[\frac{1}{2}\theta + \frac{(3n(2\theta))}{4} + \frac{(3n(2\theta))}{2} \right] d\theta = \frac{1}{3} \left[\frac{1}{2}\theta + \frac{(3n(2\theta))}{4} + \frac{(3n(2\theta))}{2} \right] d\theta = \frac{1}{3} \left[\frac{1}{2}\theta + \frac{(3n(2\theta))}{4} + \frac{(3n(2\theta))}{4} \right] d\theta = \frac{1}{3} \left[\frac{1}{2}\theta + \frac{(3n(2\theta))}{4} + \frac{(3n(2\theta))}{4} + \frac{(3n(2\theta))}{2} \right] d\theta = \frac{1}{3} \left[\frac{1}{2}\theta + \frac{(3n(2\theta))}{4} + \frac{(3n(2\theta))}{4}$$

Question 5: Evaluate the integral:
$$\int \frac{4x}{(x^2-1)(x^2+1)} dx$$
.

$$\frac{4x}{(x-1)(x+1)(x^2+1)} = \frac{A}{x-1} + \frac{B}{x+1} + \frac{Cx+D}{x^2+1}$$

$$4x = A(x+1)(x^{2}+1) + B(x-1)(x^{2}+1) + (cx+0(x+1)(x+1)$$

$$x=1: 4=4A = A=1$$

$$\chi = 1: -4 = -4B \Rightarrow B = 1$$

$$\chi = 0: 0 = A - B - D$$

$$0 = 1 - 1 - D \Rightarrow D = 1 - 1 = 0 \Rightarrow D = 0$$

$$(2c+1)(3) \Rightarrow 8 = 15 + 5 + 6 = (2c+1)(3) \Rightarrow 8 = 15 + 5 + 6 = (2c+1)(3) \Rightarrow 8 = 15 + 6 = (2c+1)(3) \Rightarrow 8 = (2c+1)(3) \Rightarrow 8 = 15 + 6 = (2c+1)(3) \Rightarrow 8 = (2c+1)(3)$$

Thus,
$$\int \left[\frac{1}{x-1} + \frac{1}{x+1} - \frac{2x}{x^2+1}\right] dx = \lim_{x \to \infty} |x-1| + \lim_{x \to \infty} |x^2+1| + C$$

Question 6: Solve the following differential equation:

$$\frac{dy}{dx} = \frac{(2x+y)^2 - 1}{(2x+y) + 4} - 2$$

(There is no need to write your solution as y(x) in this problem)

Thus,
$$\int \frac{\ln(x+1)}{x^3} dx =$$

$$= \frac{-1}{2x^2} \ln(x+1) - \frac{1}{2} \ln(x) + \frac{1}{2x} +$$

1-ln/x+11+C

Question 7: Continue:

$$\Rightarrow \frac{du}{dx} = 2 + \frac{dy}{dx}$$

=> du = 2+ dy ./ Solve for dy

This is the final

dy = dw - 2 => Now, do the substitution;

$$\frac{dw}{dx} = \frac{dx}{dx}$$

$$\frac{dw}{dx} = \frac{w^2 - 1}{w + 4} - \frac{1}{w} \Rightarrow \frac{dw}{dx} = \frac{w^2 - 1}{w + 4} \Rightarrow \frac{dw}{dx} \neq \frac{1}{w^2 - 1}$$

$$\frac{1}{\sqrt{2}} = \frac{1}{\sqrt{2}} = \frac{1$$

 $\left(\frac{w+4}{w^2-1}dw-\chi=C\right)$ let's evaluate

$$=) \frac{w^2-1}{w^2-1} dw - \chi = C$$

$$= \int \frac{w+4}{w^2-1} dw \ by \ partial fractions$$

$$= \int \frac{b}{2} \ln[(2x+y)-1] - \frac{3}{2} \ln[(2x+y)+1] - \chi$$

$$= \int \frac{b}{2} \ln[(2x+y)-1] - \frac{3}{2} \ln[(2x+y)+1] - \chi$$

$$= \int \frac{b}{2} \ln[(2x+y)-1] - \frac{3}{2} \ln[(2x+y)+1] - \chi$$

$$= \int \frac{w+4}{w^2-1} dw \ by \ partial fractions$$

$$= \int \frac{b}{2} \ln[(2x+y)-1] - \frac{3}{2} \ln[(2x+y)+1] - \chi$$

$$= \int \frac{w+4}{(w-1)(w+1)} dx$$

$$= \int \frac{w+4}{(w-1)(w+1)} dx$$

$$u = \ln(x+1)$$

$$dv = x^{-2} dx$$

$$du = \frac{1}{x+1} dx$$

$$v = x^{-2}$$

$$dh = \frac{1}{x+1} dx = -\frac{1}{2} \ln(x+1) x^{2} + \frac{1}{2} \int_{x^{2}(x+1)}^{x} dx$$

$$= \frac{1}{2x^2} \ln(x+1) + \frac{1}{2} \int \frac{1}{x^2(x+1)} dx$$
 Fraction

$$\frac{1}{\chi^{2}(x+1)} = \frac{A}{\chi} + \frac{B}{\chi^{2}} + \frac{C}{\chi+1}$$

$$1 = A\chi^{2}(x+1) + B\chi(x+1) + C(\chi)(\chi^{2})$$

$$1 = A\chi^{2}(x+1) + B\chi(x+1) + C(\chi)(\chi^{2})$$

$$1 = Ax^{2}(x+1) + Bx(x+1)$$

 $0: 1 = B$ $0: x = 1: 1 = C$

$$x = 0 : 1 = B$$
 $x = 1 : 1 = C$
 $x = 0 : 1 = B$ $x = 1 : 1 = C$
 $x = 1 : 1 = 2A + 2B + C \Rightarrow A = -1$

$$\frac{W+4}{(W-1)(W+1)} = \frac{A}{W-1} + \frac{B}{W+1}$$

$$W=0$$

$$W=0$$

$$W=0$$

$$W=0$$

$$A = \frac{1+4}{1+1} = \frac{5}{2}$$

$$B = \frac{-1+4}{-1-1} = \frac{3}{-2} = \frac{-3}{2}$$

$$\left(\frac{5/2}{w-1} + \frac{-3/2}{w+1} \right) dw =$$

$$= \frac{5}{2} \ln |w-1| - \frac{3}{2} \ln |w+1| + C$$

$$= \frac{5}{2} \ln |w-1| - \frac{3}{2} \ln |c2x+y| + 1$$

$$= \frac{5}{2} \ln |w-1| - \frac{5}{2} \ln |(2x+y)+1| + \frac{5}{2} \ln |(2x+y)+1| + \frac{5}{2} \ln |(2x+y)+1| + \frac{5}{2} \ln |x+1| + \frac{5}{2} \ln |$$

Question 8: Use the definition of improper integrals to evaluate the following

integral: $\int_0^1 x \ln(x) dx$.

integral:
$$\int_0^x x \ln(x) dx$$
.

$$\int_0^x \ln(x) dx = \int_0^x x \ln(x) dx$$

$$u = \ln x$$

$$dv = x dx$$

$$du = \frac{1}{x}$$

$$dv = \frac{x^2}{2}$$

$$ln = \frac{1}{x}$$

$$\int x - \ln(x) dx = \frac{1}{2} x^2 \ln(x) - \frac{1}{2} \int x dx$$

$$= \frac{1}{2}x^{2}\ln(x) - \frac{1}{2}\frac{x^{2}}{2} + C$$

$$S_{0}/\int x \ln(x) dx = \frac{1}{2}x^{2} \ln(x) - \frac{1}{4}x^{2}/t$$

$$= \left[\frac{1}{2}(1) \ln(1) - \frac{1}{4}(1)^{2}\right] - \left[\frac{1}{2}(t) \ln(t) - \frac{1}{4}t^{2}\right]$$

the following

$$\begin{vmatrix}
-1 & -1 & -1 & -1 \\
t \to 0 + \begin{bmatrix}
-1 & t & 1 & t \\
2 & t & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & 1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & t
\end{vmatrix} = \frac{1}{4}$$

$$\begin{vmatrix}
-1 & t & 1 & t \\
-1 & t
\end{vmatrix} = \frac{1}{4}$$

Question 9: Use the definition of improper integrals to evaluate the following

$$\int_{0}^{1} \frac{1}{\sqrt{1-x}} dx = \int_{0}^{1} \frac{1}{\sqrt{1-x}} dx$$

$$\int \frac{1}{\sqrt{1-x}} dx \qquad \left(\begin{array}{c} u = 1 - x^2 \\ du = dx \end{array} \right)$$

$$\int_{\sqrt{1-x}}^{1} dx \qquad du = -\int_{\sqrt{1/2}}^{1/2} du = -\frac{u'/2}{1/2} = -2u'/2 = -2\sqrt{u} = -2\sqrt{1-x}$$

$$= \int_{\sqrt{1/2}}^{1/2} du = -\int_{\sqrt{1/2}}^{1/2} du = -\int_{\sqrt{1/2}}^{1/2}$$

$$\int_{\sqrt{1-x}}^{\infty} dx = -2\sqrt{1-x} / t = -2\sqrt{1-t} + 2$$

$$\lim_{t \to 1^{-}} \left[-2\sqrt{1-t} + 2 \right] = -2\sqrt{1-1} + 2 = 2 \quad \text{Convergent}$$

the definition of improper integrals.

Question 10: Evaluate the integral: $\int \frac{x^3}{x^2+1} dx$.

(**Hint:** Use long division)

$$\int \frac{x^3}{x^2 + 1} dx = \int \left[x - \frac{x}{x^2 + 1} \right] dx =$$

 $= \frac{x^2}{2} - \frac{1}{2} \ln |x^2 + 1| + C$

Thus, $\int \frac{x^3}{x^2+1} dx = \frac{1}{2}x^2 - \frac{1}{2}\ln|x^2+1| + C$

Long Division degree (numerator)? degree (deniminator)

Question 11: Evaluate the integral: $\int \sec^3(x) dx$.

U = Sec(x) $dv = Sec^2x dx$ du= sec(x)tan(x)dx > v = tan(x)

Sec3xdx = Sec2x Sec(x)dx

Jsec3(x)dx = sec(x)tan(x) - |sec(x)tam2(x)dx

Continue:

Thins, (sec3(x)dx =

1 (Sec (x) ten(x))+ 1 ln |Sec(x)+ton(x) |+C

This is the knal

Sec(x)[Sec2(x)-1]dx

[Sec3(x)-Sec(x)]dx

| Secondx - Secondx

1+ton2(x) = Sec2(x) tan (x)= Sec & -1

We know

 $2 | sec^3(x) dx =$ sec(x)tm(x)+ Secunda = Sec(x)ton(x)+

 $\int \sec^3(x) dx = \operatorname{Sec}(x) \tan(x) - \int \sec^3(x) dx + \int \sec(x) dx \Rightarrow \int_{\mathcal{A}} \ln|\sec(x) + \tan(x)| + \int_{\mathcal{A}} \sin(x) dx$

Question 12: Find the expression for the nth term for each of the following sequences, and then determine whether it is convergent or divergent:

Part a:
$$\{2, \frac{3}{\sqrt{2}}, \frac{4}{\sqrt{3}}, \dots\}$$

$$\alpha_{n} = \frac{n+1}{\sqrt{n}} \implies \begin{cases} \frac{n+1}{\sqrt{n}} \\ \frac{n}{\sqrt{n}} \end{cases} = \begin{cases} \frac{n+1}{\sqrt{n}} \\ \frac{n}{\sqrt{n}} \end{cases} = \begin{cases} \frac{n}{\sqrt{n}} \\ \frac{n}{\sqrt{n}}$$

Part b:
$$\left\{1, \frac{1}{8}, \frac{1}{27}, \frac{1}{64}, \dots\right\}$$

$$a_n = \frac{1}{n^3} \implies \left\{\frac{1}{n^3}\right\}_{n=1}^{\infty}$$

$$\lim_{n \to \infty} \frac{1}{n^3} = \frac{1}{\infty} = 0 \quad \text{Convergent} \quad \square$$

Question 13: Determine whether the following sequences are convergent or not:

Part a:
$$\left\{\frac{ln(n)}{n^2}\right\}_{1}^{\infty}$$

(Hint: Use L'Hôpital's rule)
$$\lim_{n \to \infty} \frac{\ln(n)}{n^2} = \frac{\infty}{\infty}$$
Since it's $\frac{\infty}{\infty}$, we use L'Hôpital's rule
$$\lim_{n \to \infty} \frac{\ln(n)}{n^2} = \frac{1}{n} = \frac{1}{2n^2} = \frac{1}{n} = 0$$
Convergent

Part b:
$$\left\{e^{\sin\left(\frac{1}{n}\right)}\right\}_{1}^{\infty}$$

$$l = e^{\sin(\frac{1}{n})} =$$

Part c: $\left\{\frac{\sin(n)}{n^2}\right\}_{1}^{\infty}$

 $l = \frac{\sin(n)}{n^2}$ here we need to use sequente (Sandwich)

 $-1 \leq Sin(x) \leq 1$ theorem as follows:

 $-\frac{1}{n^2} \leq \frac{\sin(x)}{n^2} \leq \frac{1}{n^2}$ thus, li sin(n) =0

 $l \cdot (\frac{-1}{h^2}) \leq l \cdot \frac{\sin(x)}{h^2} \leq \frac{1}{h^2} \frac{1}{h^2}$ Question 14: Show the geometric series theorem.

 $S_{n} = a + ar + ar^{2} + ar^{3} + \cdots + ar^{n}$ $S_{n} = ar + ar^{2} + ar^{3} + \cdots + ar^{n}$ $S_{n} = ar + ar^{2} + ar^{3} + \cdots + ar^{n}$ $S_{n} = ar + ar^{2} + ar^{3} + \cdots + ar^{n}$ $S_{n} = ar + ar^{2} + ar^{3} + \cdots + ar^{n}$ $rSn = qx + qx^2 + qx^3 + \cdots + ax^n$

let's subtract the 1st equation from the 2nd one, we obtain;

 \Rightarrow $S_n-rS_n=a-ar^n \Rightarrow S_n(1-r)=a(1-r^n)$

let's now divide both sides by (1-r), me obtain;

 $\frac{Sn(1-r)}{(1-r)} = a\frac{(1-r^n)}{(1-r)}$ $Sn = a\frac{(1-r^n)}{(1-r)}$

So, line 1 = { o if -1 < r < 1 => |r|<1 = (Converge) Good Luck in Exam 2

theorem: the geometric

Senies: a+ar+ar2+-+arn-1 Best of Luck

is convergent if Mohammed K A Kaabar

Ir/<1) and its sum is $S_n = a \frac{(1-r)^n}{(1-r)} = a \frac{1}{1-r}$. Otherwise, if 1/21

other the geometric series is divergent. I